Add-On ,Gepriifte/r Betriebswirt/in (HwO)" '

~~~~~~~~~~~~~~~~~~~~~~~ Teilbereich Rentabilitat im RL-Kennzahlensystem ~~=

betriebswirtschaftliches Ergebnis
= Betriebsleistung ./. Kosten

Finanzergebnis =

Zinsertrag + Beteiligungsertrag
./. Beteiligungsaufwand

auf3erordentliches Ergebnis =

a.o. Ertrag ./. a. 0. Aufwand

Umsatzrentabilitat = Matenal.um?chlag =
Betriebsergebnis 100 1 Matenf':\lemsatz
Betriebsleistung ~ @ Materialbestand
Kapitalumschlag = Forderungsumschlag =
Betriebsleistung Bruttoumsatz
® Gesamtkapital @ Forderungsbestand
Erzeugnisumschlag =
[ Umsatz netto
@ Erzeugnisbestand
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